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ENGLISH VERSION

Instructions : (1) Necessary calculations are a part of answer.
(2) Figures to the right side indicate marks.

1  From the books of Om Shanti Limited for the year 2018 20
following details are available. From this prepare Statement

of cost for the year 2018 and estimated Cost Statement for

year 2019 :

Particulars Rs.
Direct Materials .....cooooeieeeee e 2,40,000
Direct WagesS.....ooooueeiiiiee e 1,80,000
Direct EXPeNSes ......ccooovniiiiiiiiieiiieee e 20,000
Factory overheads (40% variable).................cc.oouu.... 30,000
Office expenses (fixed) .......ooovmmmieeeiiiiiiiieeeeeeeeeeeee 10,000
Selling expenses (50% fixed) ........cccccvveeeeeeeeeeeneeninnnnne. 20,000

During the year 2018, 2000 Transistors are produced
and sold. Selling price per unit is Rs. 280.

During the year 2019, production and sales are estimated
at 3,000 Transistors. The additional information is as

under :
(1) Direct wages per unit will be reduced by 20%.
(2) Fixed factory overheads will increase by Rs. 3,000.

(3) Fixed office and fixed selling expenses will increase by
20%.

4) 20% profit is estimated on sales.

OR
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1  Shyam Limited manufactures two products named 20
Sun and Moon. Details for the year ended on 31-3-2019

were as under :

Particulars Rs.
Direct Materials .....cooooeieeeee e 9,50,000
Direct WagesS.....ooooueeiiiiee e 5,20,000
Direct EXPENSeS ......ccoounniiiiiiie e 1,80,000
Factory Overheads ...........ccccevveeeeiiiiiiieee, 2,40,000

(1) Direct material per unit of Sun is three times higher

as compared to Moon.
(2) Direct labour per unit for Moon is 80% of Sun per unit.

(3) Direct expenses per unit of Moon is Rs. 4 and the

remaining are for Sun.

(4) Factory overheads in both the products per unit are

same.

(5) Office overheads in both the products are 30% of

Prime cost.

(6) Selling overheads per unit of Sun is Rs. 12 and Moon
is Rs. 9.

(7) Production and sales details for the year were as under :

(@) Product Sun :Production 10,000 units of which
90% were sold.

(b) Product Moon : Production 16,000 units of which
80% were sold.

(8) Selling price per unit : Sun Rs. 240 and Moon Rs. 90.

Prepare cost sheet showing total and per unit cost and

profit of both products.
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2  The Trading & Profit and Loss Account of Ram Limited 20
for the year ending on 31-12-2018 is as under :

Trading & Profit and Loss Alc

Particulars Rs. | Particulars Rs.

Materials Consumed 40,000 | Sales (2,700 units) 1,00,000

Direct wages 24,000 | Closing stock

Factory overheads 16,000 | (10% of production) 8,000

Office expenses 14,000 | Interest received 800

Selling and Dividend received 400
distribution exp. 9,000

Preliminary expenses

written off 4,000
Net Profit 2,200
1,09,200 1,09,200

The cost accounts give following information :

(1) Materials and wages are taken at their cost price.
(2) Factory overheads are taken at 50% of wages.

(3) Office overheads at 20% of factory cost.

(4) Selling and distribution overheads at the rate of
Rs. 3 per unit.

Prepare :
(1) Cost Sheet for the year ending on 31-12-2018

(2) Reconciliation Statement according to cost accounts and

financial accounts.

OR
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2  The following figures are available from Hem Company 20

Limited's financial accounts for the year ending 31-3-2019:

Particulars Rs.
Direct Material Consumption .............ccccoeeevevinnneenn. 1,50,000
Direct Wages......oouueeeiiiiiee e 60,000
Factory Overheads ...........ccccevveeeeiiiiiiieee, 2,28,000
Administrative Overheads ........ccccovveeiiieiieiaeieae.. 1,50,000
Selling-distribution overheads................................... 2,88,000
Bad debts oo 12,000
Goodwill written off ... 6,000
Legal Charges ......ccoooooiiiiiiiieeeee e 3,000
Miscellaneous INCOMes .......oooueveeeeeieeeeeeeeeeeeeeeeeeeeenn. 30,000
Interest on Current Account (Credit) .......................... 6,000
Sales (72,000 UNItS) ....ooovvmiiiiiiieeeeeeee e 4,20,000

Closing stock :
Finished stock 24,000 units ........ccoooeeveeeeeieieeeeiaaeannn.. 72,000

Work-in-progress (at prime cost in both books) ...... 48,000

The cost accounts reveal :

(1) Direct Material consumption Rs. 1,68,000.

(2) Factory overheads at Rs. 20% on Prime Cost.

(3) Administrative Overheads at Rs. 3 per unit of production.

(4) Selling and distribution overheads at Rs. 4 per unit
sold.

Prepare :
(1) Cost Sheet
(2) Financial Profit and Loss Account

(3) Reconciliation statement.
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3 A product passes through two processes before completion 15
in Hem Chemicals Limited. The following are the information

related to this :

Particulars Process Process
No. 1 No. 2

Raw Materials Introduced

(at Rs. 9 per unit) ? -
Direct Wage (Rs.) 60,000 40,000
Other Expenses (Rs.) 42,000 23,000
Normal Wastage (units) 500 1,000
Sale of Wastage (per unit Rs.) 4 3
Abnormal Wastage Units 1,500 -

Output Transferred :

- To Godown (units)

(at Rs. 20 per unit) 2,000 -
- To Process No. 2 (units) 6,000 -
- To Finished Stock - ?

Abnormal Gain (units)

(at Rs. 36 per unit) - 500

Normal Wastage in Process No. 1 is 5% of the units

introduced in the process.
Prepare :
(1) Process Accounts

(2) Abnormal Wastage and Abnormal Gain Accounts.
OR
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3  During Production of Product ‘S’, Product P’ and ‘M’ are 15
obtained as by-products in Dharti Company Limited's
manufacturing unit :

Joint costs : Rs.

Materials..........c......... 42,500

Labour........cccceeeien. 45,000

Overheads ................... 37,500

Separate costs are as under :

Particulars ‘S (Rs.) [P’ (Rs.) ‘M’ (Rs.)

Materials 12,500 6,000 7,000

Labour 9,500 8,000 10,000

Overheads 7,500 2,000 2,750
29,500 16,000 19,750

Sales 1,50,000 (1,00,000| 75,000

Estimated Profit (on sales) 40% 30% 25%

To increase profit, company had launched publicity and
sales promotion compaign. Prepare Statement showing
allocation of Joint Costs.

(@) Following details have been taken from the costing 10

records of a factory for the Job No. 107.

Material .......c.ccceenee... Rs. 9,000

Wages :

Department - ‘S’ 150 hours at Rs. 6 per hour
Department - ‘R* 90 hours at Rs. 5 per hour
Department - ‘Q° 60 hours at Rs. 3 per hour
Department - ‘P° 30 hours at Rs. 2 per hour
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Variable overheads for these four departments were
estimated as follows :

Variable ‘S’ ‘R’ ‘Q ‘P’
Overheads (Rs.) (Rs.) (Rs.) | (Rs.)
Factory overheads| 12,000 10,000 6,000 800
Office overheads 12,000 8,000 | 4,000 400
Selling overheads 6,000 4,500 2,000 300

Labour hours are as under :

S 5,000 hours
‘R’ 4,500 hours
‘Q 3,000 hours
P 500 hours

Fixed overheads estimated Rs. 85,000 for 17,000
normal working hours.

You are required to calculate the cost of the Job
No. 107 and selling price of the job to get 25% profit
on selling price.

(b) Explain advantages of Job Costing System. 5
OR

4 (a) Following details have been taken from the costing 10
records of a factory for the year the Job No. 520.

Particulars Rs.

Materials 11,000

Direct Wages :

- Department ‘A’ : 160 hours at Rs. 20 per hour
- Department ‘B’ : 120 hours at Rs. 20 per hour
- Department ‘C’ : 80 hours at Rs. 20 per hour 7,200
18,200

Add : 25% for expenses 4,550

22,750
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Analysis for the Profit and Loss Account for the
previous year shows the following :
Particulars Rs. | Particulars Rs.
Materials used 24,00,000 | Sales 40,00,000
Direct wages :
Dept. A 1,60,000
Dept. B 1,92,000
Dept. C 1,28,000 4,80,000
Factory overheads :
Dept. A 80,000
Dept. B 1,44,000
Dept. C 32,000 2,56,000
Gross Profit 8,64,000
40,00,000 40,00,000
Selling Expenses 3,13,600 | Gross Profit 8,64,000
Net profit 5,50,400
8,64,000 8,64,000
It is also noted that average hourly labour rates for
the three departments are same.
Prepare :
(1) Job Cost Sheet
(2) Calculate revised cost using the actual figures for
the previous year as the basis. Calculate selling
expenses taking factory cost as basis.
(3) Selling price to get a profit of 16.67% on sales.
(b) State the uses of Batch Costing. 5
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